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Question 1

Question Type: MultipleChoice

SIMULATION

21:-



Guidelines Topology lasks Rz 3 R1 R10 R20

OSPF is partially configured, Complete the OSPF configurations to

achieve these goals:

1. Configure R3 to always be the DR in Area 20. Do not change
the router 1D.
2. Configure R2 and R10 so they do not participate in a DR/BDR

election process in Area 10.




Guidelines Topology Tasks

10 2 203 0724

101102 0724

Options:




A- See the solution below in Explanation

Answer:

A

Explanation:

Solution:

R3

Int e0/1

Ip ospf priority 255

End

Copy run start

R2

Int e0/1

Ip ospf network point-to-point

End



Copy run start

R10

Int e0/0

Ip ospf network point-to-point
End

Copy run start

OR

Question 2

Question Type: MultipleChoice

SIMULATION

20:-



Guidelines

Topology

Tasks

10.2.203.0/24

10.1.102.0/24




OSPF is partially configured. Complete the OSPF configurations
on the ABR routers to achieve these goals:

1.

Options:

The route for R1 Loopback 0 should not be advertised into
Area 10. Use the partially configured prefix list to accomplish
the task. Do not use the area 0 command under the router
ospf configuration section to accomplish the task.

. The route for R20 loopback 0 should not be advertised out of

area 20. Use the partially configured prefix list to accomplish
this task. Do not use the area 0 command under the router
ospf configuration section to accomplish this task.




A- See the solution below in Explanation

Answer:

A

Explanation:

R2
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Guidelines Topology Tasks R2 R3

JDSPF is partially configured. Complete the OSPF
configurations to achieve these goals:

1. Configure OSPF on router R1 according to the topology
so that all networks are advertised. Do not use the
network statement under the "router ospf” configuration
section to accomplish this task.

2. Configure a single command on the ABR routers to
ensure only one summary route is advertised to area 0.

Options:




A- See the solution below in Explanation

Answer:

A

Explanation:

R1

en

Conft

Router ospf 10

Router-id 10.x.x.x -- |00 address
Int range 100, e0/0-1

Ip ospf 10 area 0

Exit

wr

R2



Router ospf 10

Area 10 range 10.1.0.0 255.255.0.0
exit

wr

R3

Router ospf 10

Area 10 range 10.2.0.0 255.255.0.0
Exit

Wr

OR
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Question Type: MultipleChoice

SIMULATION
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Topology Tasks
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Guidelines Topology Tasks R2 R3 R1 R

OSPF is partially configured on all devices. Complete the
configurations to achieve these goals:

1. Configure R2 to always be the DR in Area 10. Do not
change the router ID.

2. Configure a single command on R2 to summarize area
10 routes into a single route.




Options:

A- See the solution below in Explanation

Answer:

Explanation:

R2 (config) #int et0/1

R2 (config-if) #ip ospf pro

R2 (config-if) #ip ospf pri

R2 (config-if) #ip ospf priority 255
R {canfl -1 F) 3
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Guidelines Topology Tasks

OSPF is partially configured. Complete the OSPF
configurations to achieve these goals:
1. Configure R3 and R20 so they do not participate in a
DR/BDR election process in Area 20.
2. Configure R10 so it is always the DR for Area 10. Do
not change the router ID.




Guidelines Topology Tasks

OSPF is partially configured. Complete the OSPF
configurations to achieve these goals:
1. Configure R3 and R20 so they do not participate in a
DR/BDR election process in Area 20.
2. Configure R10 so it is always the DR for Area 10. Do not
change the router ID.



Guidelines

Topology Tasks

10.2.203.0/24

vy




Options:

A- See the solution below in Explanation

Answer:

A

Explanation:

Solution:




Copy run start

Lp OS]
luplex

end




Copy run start

Verification:-

OR

Question 6

Question Type: MultipleChoice
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Guidelines Topology Tasks R10 R20

The operations team started configuring network devices for a new
site. R10 and R20 are preconfigured with the CORP VRF. R10 has
network connectivity to R20. Complete the configurations to achieve
these goals:

1. Extend the CORP VRF between R10 and R20 using TunnelO.
2. Configure static routing on R10 and R20 so that users in VLAN
100 and VLAN 101 that belong to the CORP VRF are able to
communicate with each other. TunnelO should be the only

interface used to route traffic for the CORP VREF.

ISP




OR



Guidelines  Topology  Tasks

-

The operations team started configuring network devices for
a new site. R10 and R20 are preconfigured with the CORP
VRF. R10 has network connectivity to R20. Complete the
configurations to achieve these goals:

1. Extend the CORP VRF between R10 and R20 using
TunnelO.

2. Protect TunnelO using the preconfigured profile

3. Configure static routing on R10 and R20 so that users
in VLANs100 and 101 that belong to the CORP VRF
are able to communicate with each other. TunnelO
should be the only interface used to route traffic for the
CORP VRF
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Tasks

10.10.2.0/24

e0/2

I
e0/0
e0/0 e0/0
K 3 K 3
Sw10 Sw20
SITE | VRF |VLAN | SUBNET GATEWAY
R10 |CORP | 100 10.100.1.0/24 | 10.100.1.1
R20 |CORP | 101 10.101.2.0/24 | 10.101.2.1




Options:

A- See the solution below in Explanation

Answer:

A

Explanation:

Solution:

R10



Copy run start

R20



ommands, one per

Copy run start

Verification:

min/avg./n
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Question Type: MultipleChoice

SIMULATION
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L

The operations team started configuring network devices for a new site.
Complete the configurations to achieve these goals:

1. Configure interface e0/1 on SW10 so that packet forwarding begins
immediately after the link-state moves to UP.

2. The trunk between SW10 and SW30 is not operational. It should
actively attempt to convert to a trunk but it does not. Troubleshoot the
issues and ensure PC2 can ping PC1 (10.10.100.10) across the link.

3. The LACP port channel between SW10 and SW20 is not operational.
Troubleshoot the issues and ensure PC2 can ping PC3 (10.10.100.30)
across the port-channel.

Note: No access is provided to SW20 or SW30. Resolve these issues by
making changes only to SW10. Traffic on all trunks should be restricted to
only active VLANSs.
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Options:

A- See the solution below in Explanation

Answer:




Explanation:

Solution:

ntis r)#

nfig-if)#

SW10
Int ran e02/-3
Channel-group 10 mode active

Verification:
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Question 8

Question Type: MultipleChoice

SIMULATION
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PC1




The operations team started configuring network devices for a
new site. Complete the configurations to achieve these goals:

1. Configure Rapid PVST+ on SW20.

2. The trunk between SW20 and SW30 is not operational.
Troubleshoot the issue and ensure PC3 can ping PC1
(10.10.100.10) across the link.

3. The LACP port channel between SW10 and SW20 is not
operational. Troubleshoot the issue and ensure PC3 can
ping PC2 (10.10.100.20) across the port channel.

Note: No access is provided to SW10 or SW30. Resolve
these issues by making changes only to SW20. Traffic on all
trunks should be restricted to only active VLANSs.

Options:

A- See the solution below in Explanation

Answer:

A



Explanation:

Solution:
SW20
Conft

Spanning-tree mode rapid-pvst

No int po10

No shut

exit

Int e0/0

No switchport mode access




Copy run start

Verification:

Question 9

Question Type: MultipleChoice

SIMULATION
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Guidelines Topology Tasks SW10 PC1 PC2

The operations team started configuring network devices for
a new site. Complete the configurations to achieve these
goals:

1. The trunk between SW10 and SW30 is not operational.
Troubleshoot the issue and ensure PC2 can ping PC1
(10.10.100.10) across the link.

2. Configure SW10 interface EO‘;U for aggressive
unidirectional link detection.

3. The LACP port-channel between SW10 and SW20 is
not operational. Troubleshoot the issue and ensure that
PC2 can ping PC3 (10.10.100.30) across the port-
channel.

Note: No access is provided to SW20 or SW30. Resolve
these issues by making changes only to SW10. Traffic on all

triinlte chmiild bhea ractrictad tn v arctiva A/l AMNe




Options:

A- See the solution below in Explanation

Answer:

A

Explanation:

SOLUTION: -

SW10

Conft

Default int e0/0

Int e0/0

No sh

Switchport trunk encap dotlq

Switchport mode trunk



Udld port aggressive
Switchport trunk allowed vlan add 300
No sh

Ex




Question 10

Question Type: MultipleChoice

SIMULATION

12: -
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PC1

WLAN 200




1 B My

Gundalines Topology Tasks

The operalions team started configuring network devices for a
new sile. Complele the confligurations 1o achieve thesa goals:

1. Configure SW20 to ufilize 32-bit values when calculating
spanning-iree port cost.

2. The trunk between SW20 and SW30 is not operational.
Troubleshoot the issue and ensure PC3 can ping PC1
{10.10.100.10) across the link.

3. The LACP port channel between SW10 and SW20 is not
operational. Troubleshoot the issue and ensure PC3 can ping
PC2 (10.10.100.20) across the port channel.

Note: No access is provided to SW10 or SW30. Resolve these
issues by making changes only o SW20. Traffic on all trunks
should be resltricled to only active VLANs.

Options:

A- See the solution below in Explanation

Answer:




Explanation:

SOLUTION: -

tchport




VERIFICATION: -






OR
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